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Question Number : 1 Question Id : 2549896315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following computers are used by large institutions and government agencies such as

banks, railways, etc. to handle a very large amount of data?

Options :

1. % Workstations

2. ¥ Mainframes

3. % Microcomputers

4. % Minicomputers

Question Number : 1 Question Id : 2549896315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAfefed & & o9 9 ShEgex o1 STINT o8 TRATT 3R TRPRI Yol oIl ook, Ied 1S gRT Igd S8t A1 § ST
! T o forg fehar StTaT 82

Options :

1. % gehede



2. & AThe
3. ¥ HTgehlhER
4, % fofidhegex

Question Number : 2 Question Id : 2549896506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The default file extension of a MS-Excel workbook is:

Options :
1. % Xlr
2. % exe
3. % .exl

4.+ xlsx

Question Number : 2 Question Id : 2549896506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS Excel aheeh ol fEthice thigd TaIes™ T 872

Options :
1. % XIr
2. % .exe
3. % .exl

4.+ Xxlsx



Question Number : 3 Question Id : 2549896896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an example of a non-impact printer?

Options :

1. * Chain printer
2. ¥ Band printer

3. ¥ Thermal printer

4. % Drum printer

Question Number : 3 Question Id : 2549896896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
= 4 O ot 91 A17-3W e fiiex &1 T TR 87

Options:

1. % 9 fii
2. ¥ ds fi®
3. ¥ gHd iR

4, % g fiiex

Question Number : 4 Question Id : 2549897004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following mouse techniques is used to access the properties of an object?



Options :

1. % Dragging

2. * Dropping

3. ¥ Right-clicking

4. # Left-clicking

Question Number : 4 Question Id : 2549897004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
forddt sifssiae i UTTéieT & T & fore A | @ fopg A1k9 dandiien a1 Iuah fohar STraT 872

Options :
1. % fim
2. % g
3. ¢ ge-fafeht

4, % Aoe-fafe

Question Number : 5 Question Id : 2549897248 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which directory contains the special device files in Linux?

Options:
1. % Jusr
2. ¥ /dev

3. % /tmp



4. % /bin

Question Number : 5 Question Id : 2549897248 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
foraT (Linux) & &9 It errees) # Ay fearsy wigd gidl 8?2

Options :
1. % Jusr
2. ¥ /dev
3. % /tmp

4. * /bin

Question Number : 6 Question Id : 2549897578 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an example of application software?

Options :
1.9 Tally
2. % Dos
3. * Windows

4, # Linux

Question Number : 6 Question Id : 2549897578 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
ffafad & @ &9 91 Teliehe Tt o1 Teh IETeR0T 8?2

Options:
1. ¢ Tally
2. * Dos
3. * Windows

4., # Linux

Question Number : 7 Question Id : 2549898452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function returns the factorial of a number in MS-Excel?

Options :

1. * FACTORIAL function
2. % FACTO function

3. % FACT function

4. % FACTN function

Question Number : 7 Question Id : 2549898452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel &, ehiI<T IT thara = fohd) T ant tharaRiaret a1 22

Options :

1. # FACTORIAL G



2. % FACTO tHhas™=
3. ¥ FACT thaE

4. ¥ FACTN thas™=

Question Number : 8 Question Id : 2549899274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following devices is the communication medium for the entire computer system and

is placed in the system unit?

Options :
1. % Motherboard
2. * RAM
3. % ROM

4, * Graphics card

Question Number : 8 Question Id : 2549899274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAfafEa & 9 o a1 fearsy R dvwger fwen & forg Jar Aregw ¢ ok ke gfae # @ mar g2

Options :
1. ¢ ARSI
2. * RAM
3. * ROM

4. % Tfthay shrs



Question Number : 9 Question Id : 25498930064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

With reference to biometrics, what is the
proportion of genuine attempts that are falsely declared not

to match a template of the same object?

Options :

1. # Fixed Match Rate (FMR)

2. ¥ False Non-Match Rate (FNMR)
3. ¥ Frequency Match Rate (FMR)

4. % False Match Rate (FMR)

Question Number : 9 Question Id : 25498930064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
IraAfee & deof #, arkafdes gaTEl &l SIUTd <RI g S GH ¥ o SHele & Al Agl @M o folg 7Terd adieh &
i fhy SI1d 872

Options :

1. # fafga o™ &R (FMR)

2. ¥ T1eld IR-fAeT< & (FNMR)
3. # 3gfieh e & (FMR)

4., % 7d @™ &= (FMR)

Question Number : 10 Question Id : 25498930916 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements with reference to RAM is FALSE?

Options :

1. * RAM is directly accessible by the CPU.

2. ¥ RAM is a part of a computer’'s secondary memory.

3. ¥ RAM is used to store the data that is currently processed by the CPU.

4. # RAM is volatile in nature.

Question Number : 10 Question Id : 25498930916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
RAM & Tg # 71 & ¥ ol 91 &= TTeld 8?2

Options :

1. # RAM, CPU gRI Ugeld: Taifad &

2. ¥ RAM SRR hl Ycha<t AARY ol faear g1

3. ® RAM I IJUNT 3T ST ot TR e o forg foram Sirar & it adam & CPU g1 Wi foram Sirar 21

4. % RAM Ueh SRUTAT AR &

Question Number : 11 Question Id : 25498931286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements with reference to a USB pen drive is FALSE?

Options :

1. % Itis a portable storage space device which is capable of taking care of your storage



requirements.
2. # A pen drive can easily store up to 120 GB and even more.
3. # Itis used as a mobile storage device.

4.+ It is a volatile device.

Question Number : 11 Question Id : 25498931286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

USB O+ §13a & T & A1 & § o9 I1 o6y TTeid 872

Options :
1. % gg Ueh Uldad Wl WY 3189 & ST 3Much! RS STagchdrail i 2@t e § et gl

2. % Qp U9 g13d H 120GB 3R 399 oft 31fdres Se1 Wi fohar ST Tept &1

3. ® 3YepT IUINT HIATSA WRY feagy & U # fohar ST g1

4. v gg Ueh I} Wi fearsy g

Question Number : 12 Question Id : 25498932658 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The card-to-reader communication is performed on the basis of which of the following standards?

Options :

1. % ISO 7800
2. ¥ 1S0 7816
3. # ISO 7006

4. # 1SO 786



Question Number : 12 Question Id : 25498932658 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HIS-g-IeR wrgfAche fAmfafRad # & forg Aes o R WR fhar Sirdm 82

Options :

1. % ISO 7800
2. ¥ 1SO 7816
3. ¥ ISO 7006

4. % ISO 786

Question Number : 13 Question Id : 25498933098 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The horizontal and vertical wires of passive graphics tablets operate as:

Options :

1. % transmitting and receiving coils
2. % sensors

3. # positive and negative connectors

4. # analog to digital converters

Question Number : 13 Question Id : 25498933098 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAfeha Tfthar Saeicd & &ifdsT 3iR eater IR fohe ®U § &f &ed 82



Options :
1. ¢ UHReh R UTIHRRI Husel] & =0 H

2. % g wud

3. # ¢HTcHh 3R FUMHS TISThl ch ®T |

4. % e 4 fefSiea uRadanl & wu o

Question Number : 14 Question Id : 25498933199 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The 1's complement of 1011 is

Options :
1.4 0100
2. % 0101
3. % 0110

4. * 0000

Question Number : 14 Question Id : 25498933199 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1011 & 1 AT Uk AT gRTT?

Options:
1.4 0100
2. % 0101

3. * 0110



4. % 0000

Question Number : 15 Question Id : 25498933831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is secondary computer memory?

Options :

1. * RAM

2. ®# Cache memory
3. * Registers

4.« Hard disk drive

Question Number : 15 Question Id : 25498933831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
= & O ol Yhedt hger AARt 87

Options :

1. * RAM

2. % HyAARy

3. ® R

4. ¢ g1é % grza

Question Number : 16 Question Id : 2549898168 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

contains information about the user or group and the associated permissions with

reference to system security.

Options :

1. ¥ Account lockout threshold
2. ¥ Access control entry

3. # Reset account lockout

4. # Account lockout duration

Question Number : 16 Question Id : 2549898168 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
¥ % e & oo A Iuahrenal a1 GHg 3R Helg SIFATAAT & IR H ST-ehRY gidt 1

Options :

1. ® 3I[hTC AThIIET e
2. ¥ Todq cheld Udl

3. # YT IMchIIC AThIATIC

4. ® ITpIdc AlhII3C TS

Question Number : 17 Question Id : 2549898381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
has the knowledge of the file system in LINUX.

Options :

1. % BIOS



2. % Kernel
3. % POST

4. ¥ GRUB

Question Number : 17 Question Id : 2549898381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
LINUX # thrget & &t STenrt 7 gidht 1

Options :
1. % BIOS
2. #* Kernel
3. # POST

4. ¥ GRUB

Question Number : 18 Question Id : 2549899448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
gie 3T Ut ThiH oh chec ol o & wU H fiie ST 9184 8, af fohd S ot IuART hedt?

Options :

1. ¥ UfSl sioh

2. ¢ fiic &hA

3. # &9 R (Sys req)

4. % US 31



Question Number : 18 Question Id : 2549899448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following key will enable you to print the current screen contents as an image?

Options :

1. * Pause Break
2. ¥ Print Screen
3. ® Sys Req

4. * Page Up

Question Number : 19 Question Id : 2549899465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HgeR H 1A T At @H & forg, il # sreumf SBa & g ST @R A & fag ' gIaT g

Options:

1. % fafre AR
2. ¥ 0 T TR
3. ¥ fafere giams

4. % ffe fEargg

Question Number : 19 Question Id : 2549899465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

To match the speed of the computer, the printer has a to store data for a temporary



purpose.

Options:

1. % specific register

2. ¥ buffer or spooler
3. ® specific program

4, # specific device

Question Number : 20 Question Id : 2549899624 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a type of printer?

Options:
1. # Inkjet
2. % Laser
3. * Plotter

4. % Scanner

Question Number : 20 Question Id : 2549899624 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafefea & @ o a1 filer o1 tes veR T81 872

Options :
1. * Inkjet

2. % Laser

3.



# Plotter

4. % Scanner

Question Number : 21 Question Id : 25498910786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JIR TR 9gd U ¥ Sch PIfdsT & Wl B ahdT & Hifch 399 TR A giaT §T g

Options :

1. % AR fiix
2. % grd iR
3. ¥ gapote iR

4. ® gfe Afeqy iR

Question Number : 21 Question Id : 25498910786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A/An sprays ink from an ink cartridge at very close range to the paper as it rolls by.

Options :

1. * laser printer

2. ® thermal printer
3. ¥ inkjet printer

4. #® dot-matrix printer

Question Number : 22 Question Id : 25498911129 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
= & 9 &9 91 Uep AH-30ae e 872

Options :

1. ¢ doR iR

2. ® fhfAene IR
3. % Seft et fiieR

4. ® gfe Afeqy iR

Question Number : 22 Question Id : 25498911129 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a non-impact printer?

Options :

1. % Laser printer

2. # Mechanical printer
3. #* Daisy wheel printer

4. % Dot-matrix printer

Question Number : 23 Question Id : 25498913454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HATEehIEIUE faeisT ged Us HUld Her @ier o forg fasisT &ht & ary w1 # 9 el &t there = it et IUTNT feha
ST 87



Options :
1.9 F1
2. % F2
3. % F3

4. % F4

Question Number : 23 Question Id : 25498913454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following function key is used along with windows key to open Microsoft Windows

Help and support center?

Options :
1. FH1
2. # F2
3. % F3

4. % F4

Question Number : 24 Question Id : 25498913478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an input device?

Options :
1. ¥ Keyboard

2. # Mouse



3. # Scanner

4. + Printer

Question Number : 24 Question Id : 25498913478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ffefed & & @i= |1 U 31qc feamsd 78 672

Options :
1. ¥ fHerS
2. % AR3Y
3. ¥ R

4. ¢ iR

Question Number : 25 Question Id : 25498918492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HEUT R TR A oh foIQ hl- § haldl ATk BId 82

Options :

1. % UfaR chad 3R Se3Ac hadl

2. ¥ UlqR Shaol CAT6 had

3. ¢ UTaR chadl 3R ST chaldl

4. % UfaR chael CATS head

Question Number : 25 Question Id : 25498918492 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following cables are necessary to start printing jobs?

Options :

1. * Power cable and internet cable
2. ¥ Power cable CAT6 cable

3. % Power cable and USB cable

4. % Power cable CATS cable

Question Number : 26 Question Id : 25498921934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
IMReH A AT k! A SEoie & ISl ST &

Options:
1. % Hiche i
2. ¥ gfscien

3. ¥ 23 thar

4, % UigeR i

Question Number : 26 Question Id : 25498921934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the algorithm, message is converted to message digest.

Options :



1. # secret key
2. * public key
3. ¢ hash function

4. % popular key

Question Number : 27 Question Id : 25498922696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
gfe fohdt gredeR fearsT 7 g1 81 & e ohxT s o T §, I I/ vl ARTd UTdt IHTHT T gt JehdT 872

Options :

1. ® f3I139 3R Sl ST e

2. ¥ 39 fEaed o R guxt feasd g&wera o

3. ¢ fSa139 ST5aR] ! GIRT 3T he

4. ¥ HYR § Bl

Question Number : 27 Question Id : 25498922696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If a hardware device has recently stopped working, what could be the cost effective solution of the

problem?

Options:
1. # Uninstall device drivers
2. ¥ Remove that device and replace it by another one

3. % Reinstall device drivers



4, ® Shut down the computer

Question Number : 28 Question Id : 25498924449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
71 7 & @l a1 gfe (UNIX) o1 Ueh TR Shgtel Ried el -Tgi 872

Options :
1. # fork()
2. # exit()
3. ¥ map()

4. #* wait()

Question Number : 28 Question Id : 25498924449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a Process Control system call of UNIX?

Options :
1. # fork()
2. #* exit()
3. ¥ map()

4. * wait()

Question Number : 29 Question Id : 25498925420 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Interruption in electronic devices occurs when there is supply voltage or load current takes

place.

Options :

1.¥ dropin

2. *® increasein

3. * complete loss of

4. % no effect on
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Options :

1.4 gasa
2. % gehlel g
3. ¥ gufgiA

4. % Jyrrfad

Question Number : 30 Question Id : 25498927454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. % USB



2. % g8
3. % U4

4.« CD-ROM

Question Number : 30 Question Id : 25498927454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Standard audio and photo compact disks are played using a drive.

Options :
1. % USB
2. * hard
3. % pen

4. ¥ CD-ROM

Question Number : 31 Question Id : 2549897215 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following box in Google Drive is used to search for a particular file?

Options :

1. % List box

2. # View box
3. #* Find box

4.+ Search box
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Options :

1. ® fore i
2. ¥ P i
3. ¥ Tge die

4. ¥ O diag

Question Number : 32 Question Id : 2549897684 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Internet Explorer is a(n):

Options :

1. % operating system
2. % compiler

3. #* interpreter

4. browser
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Options :

1. ® ArRfdT e
2. # RHUER

3. ¥ TR

4. ¥ FI3eR

Question Number : 33 Question Id : 2549899192 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The process of copying information to your computer from a specially configured FTP server is

called

Options :

1. ¢ downloading
2. % uploading

3. #* deleting

4. % restoring
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Options :

1. ¢ SIS



Question Number : 34 Question Id : 25498910441 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following keyboard shortcuts is used to increase font size in MS-Word?

Options :

1. % Ctrl + [
2.9 Ctrl +]
3. % Ctrl +=

4, ® Ctrl + -
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Correct Marks : 1 Wrong Marks : 0
MS-Word & i & 31ThR i deT & folt i & & foh dh1-a1S méahe o IuahT fohar ST 872

Options :

1. % Ctrl + [
2.9 Ctr| +]
3. % Ctrl +=

4. % Ctrl +-
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:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the file extension for an MS-Word document?

Options :
1. % .docx
2. % qif
3. % .avi

4. % htm
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Options:
1. % .docx
2. % qif
3. % .avi

4. % htm

Question Number : 36 Question Id : 25498910736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following keyboard shortcuts is used to go to the File tab in an MS-Word document?

Options :



1.¥Alt+F
2. % Alt+H
3. % Alt+N

4. % Alt+G

Question Number : 36 Question Id : 25498910736 Question Type : MCQ Option Shuffling : Yes
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Options :

1.¥Alt+F
2. % Alt+H
3. % Alt+N

4. % Alt+ G

Question Number : 37 Question Id : 25498911495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Raghu is working on an MS-Word document. Which of the following options should he turn off to

ensure that every first letter is not capitalised in a sentence?

Options :
1. ¥ Sentence case
2. * Capitalize each sentence

3. * Capitalize each word



4, # Capitalize each word of sentence
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Options :

1. % Sentence case

2. * Capitalize each sentences
3. ¥ Capitalize each word

4, # Capitalize each word of sentence

Question Number : 38 Question Id : 25498911515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
There are statistics under the MS-Word 'Word Count' option within the Proofing group.

Options :
1. # five

2. % seven
3. * three

4. ¥ six

Question Number : 38 Question Id : 25498911515 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % g
2. % Hid
3. % =

4, ¥ B

Question Number : 39 Question Id : 25498911836 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the context of MS-Word, identify the option that fills in the missing part of the given sequence

to format line spacing.

Home->__ ->Line and Paragraph Spacing
Options :

1. % Paragraph

2. # Margins

3. ® Lines

4, = Sjzes
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Options:

1. ¢ R
2. ¥ gifsy
3. ¥ dfwkai

4, % 3hRR

Question Number : 40 Question Id : 25498911838 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to line and paragraph spacing in MS-Word is

FALSE?

Options:

1. % You cannot control how much space is there before and after a paragraph.
2. ¥ You can use MS-Word's Set as Default feature to save all of the formatting.
3. * Line spacing is the space between each line in a paragraph.

4. ¥ MS-Word allows you to customise line spacing.
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Options :
1. ¢ 31y gg AR 981 R Tehrd foh IRIUTH & Uget 3R a1e # foha=it STg 8t @il

2. % guft AT ot Q9 heq & fAg 3ma MS-Word & 8¢ TSl fthiee thikiR el SUIHT & Tehd 8|

3. # RIMH Y U Ufth o i & =a=TT i AT WY gl STTaT 8

4. % MS-Word ¥ 319 d13 Wi hceATSS he Tehd &1
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In paragraph spacing, typically the extra spaces can be added between paragraphs, or

subheadings of an MS-Word document.

Options :

1. % headings
2. * footers
3. ¥ words

4. * |etters
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Options :

1. ¢ M



2. % &
3. % grea)

4. % 3eri

Question Number : 42 Question Id : 25498911871 Question Type : MCQ Option Shuffling : Yes
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There is/are option(s) in the dropdown menu of balloons option in the Tracking group in MS-

Word?

Options :
1. * one
2. % two
3. ¥ three

4. * four
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Options :
1. % g
2. ¥ 3
3. ¥

4. % IR



Question Number : 43 Question Id : 25498911885 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The use of ICTs to modernise the state; the creation of data repositories for Management
Information System (MIS) and computerisation of records (land, health, etc.) with reference to E-

Governance is termed as:

Options :

1. % e-Commerce

2. % e-Services

3. ¥ e-Administration

4. % e-Democracy
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Options :

1. % S
2. % 3-gamd

3. ¥ -0

4. ¥ S-SEaT

Question Number : 44 Question Id : 25498913330 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following groups within the Layout tab in MS-Word contains the settings for the

indentation option?

Options :

1. * Themes

2. % Page Setup

3. ¥ Page Background

4.« Paragraph
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Options:

1. % ofig

2. % U9 93y
3. ¥ U9 depUSS

4. ' RIUTH

Question Number : 45 Question Id : 25498919170 Question Type : MCQ Option Shuffling : Yes
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Identify the correct face positioning in the feed dialogue box in mail merging of Envelopes in MS-

Word.



1-Face up, 2-Face down, 3-Face left, 4-Face right

Options :
1.%1,2,3
2. % 2,3
3. 1,2

4. % 2,4
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Options :
1.% 1,23
2. %23
3. 1,2

4. % 2.4
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Options :

1.



¢ HISIGT Gl T IUANT ke
2. ¥ 31Tk HUhi ohl A
3. % go 5 g TsU W

4. % T FIE

Question Number : 46 Question Id : 25498919200 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, to use the names and addresses from a file or database in the third step of mail

merging a letter, the radio button has to be enabled.

Options :

1. % Use an existing list

2. # Select the Outlook contacts
3. ¥ Type a new list

4. # Import the list

Question Number : 47 Question Id : 25498920532 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word, the keyboard shortcut 'Ctrl + B' is used to a selected piece of text.

Options:
1. * italicise
2. % underline

3. # jtalicise and underline



4. ¥ make bold

Question Number : 47 Question Id : 25498920532 Question Type : MCQ Option Shuffling : Yes
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Options :

1. ® geferm

2. % 3fSTATST

3. ¥ gfores IS siexars

4, ¥ dee

Question Number : 48 Question Id : 25498925497 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to 'Save' and 'Save As' options in MS-Word is

FALSE?

Options :

1. * The options are used to create a new file and/or preserve the original file.

2. ¥ Save' is used when you want to change the name, location and format of the document.
3. ¥ Save As' is used to apply changes to a new file.

4. * With the help of 'Save As', a file can be saved with multiple names.
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :
1. ® 39 faereul T IUTNT Yeh =18 Thigdl fohue 3fiR/aT Hel thigdl onl g e o ol fohar S 81
2. ¢ Tq oK1 IUINT SfeRgHe & =, AT 3R wiFe aht seer & forg forar sirar g1

3. % Jg ST I IUGNT 718 WIS J deeldl o folq fohar STrar g1

4. % g Ul fached Sl GgIdT T Ueh WIS ol hs ATHI 9 94 fohadr ST TahdT &

Question Number : 49 Question Id : 25498930546 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, you can move quickly to a location in an MS-Word document using the 'Go To'
command. You can use the keyboard shortcut to display the 'Go To' tab of the Find and

Replace dialog box.

Options:

1. Ctrl + G
2. % Ctrl +T
3. % Ctrl+ O

4. % Alt+G

Question Number : 49 Question Id : 25498930546 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1.9 Ctrl + G
2. % Ctrl+T
3. % Ctrl+ O

4. % Alt+G

Question Number : 50 Question Id : 25498933760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To access any file or document using FTP, you need to log in on the server.

Options :

1. % SMTP
2. FTP

3. ¥ TCP/IP

4. ®* IMAP
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Options :
1. % SMTP

2. ¥ FTP

3.



® TCP/IP

4. = IMAP

Question Number : 51 Question Id : 25498933805 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

The use of a computer for the purpose of keeping account information and information about

stocks, prices, items etc. falls into which of the following categories?

Options :

1. % Business applications

2. * Educational applications

3. ¥ Entertainment applications

4. # Network applications
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Options:

1. ¢ TEEIR SuaNT
2. ¥ erforen SrguEiT
3. ¥ HARSHE SIguanT

4. % Freads s
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The .MOV file format represents the QuickTime format, natively used in the QuickTime

framework of Mac.

Options :

1. * audio
2. ¥ video
3. #* object

4, = text

Question Number : 52 Question Id : 25498934442 Question Type : MCQ Option Shuffling : Yes
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Options :
1. % sffeat

2. ¥ difea
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Options:

1. % ST LG

2. ¥ ToIHHR fagrd
3. ® I AgmmEn

4, ¥ Qep qUITCHT
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Options :

1. ® g IR IHAR
2.



# el R faey Ut e

3. ¢ Uk 3T i gfd e arell

4. % U [T ISTHAR
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Question Id : 25498921127 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Buddha

King Suddodana ruled the kingdom of Kapilavastu, located in the foothills of the Himalayan
mountains. One night his pregnant wife, Queen Mahamaya, dreamt of a white elephant with six
tusks entering her body. When she woke up, she told the King about her dream. The King
consulted the wise men, and they predicted that the child would either be a great king or would

renounce the world to become a holy man.

The child was born and was named ‘Siddhartha’, which means ‘every wish fulfilled’. Siddhartha was
the only heir to the throne and, King Suddodana did not want him to renounce the world. He
decided to keep the Prince within the walls of the palace so that he would not be exposed to any
holy man who may influence him. Unfortunately, Queen Mahamaya died soon after childbirth.

Siddharatha was then raised by his aunt with great love and care.



When Siddhartha was sixteen, King Suddodana decided to get Siddhartha married. At that time, a
swayambara was arranged for the beautiful Princess Yashodhara. Siddhartha won in all the
competitions and won the hand of the Princess. In a few years they had a son. He was named
Rahul, meaning ‘conqueror of all miseries’. King Suddodana rejoiced, for now it seemed less likely

that Siddharatha would renounce the world.

But soon after Rahul was born, Prince Siddhartha began to feel restless. He was curious about
what lay outside his sheltered world. So, one day he asked his charioteer to take him for a ride far
outside the kingdom. They slipped beyond the palace gates and there, for the first time in his life,

the Prince saw human suffering. Siddhartha decided to devote his life to the service of humanity.

Sub questions
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The passage mainly discusses the events in the life of:

Options :

1. # King Suddodana
2. ¥ Prince Siddhartha
3. ¥ Queen Mahamaya

4. % aholy man
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The name Siddhartha means:

Options :



1. # arestless prince
2. * conqueror of miseries
3. ¢ every wish fulfilled

4. % a curious prince
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The King took some steps to prevent the prophecy from coming true. Which of the following is

NOT a step in this direction?

Options :

1. * He got Siddhartha married at the age of 17.

2. # He kept Siddhartha confined within the four walls of the palace.
3. ¥ He allowed Siddhartha to be brought up by his aunt.

4. # He prevented Siddhartha from meeting any holy man.
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The holy men interpreted Queen Mahamaya's dream to signify that:

Options:
1. # the child might be the only heir to the throne.
2. % the child might ride a white elephant.

3. ¢ the child might become a holy man.



4. # the child might run away from the palace.
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
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How did Siddhartha win Yashodhara’s hand in marriage?

Options :

1. * His aunt chose the bride for him
2. ¥ In a swayambara

3. ¥ The King chose the bride for him

4. * Yashodhara asked him to marry her
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Y4096 = Y64 =37

Options :

| % 16
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Select the option that can replace the question mark (?) in the given equation.
4096 - V64 = 17
Options :

1. % 16

2. % 8



3. v 64

4 % V4
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Options:

1.4 100

2. % 50

3. % 7% o7 IR 34 & foiy Ry 7 sriewe yafe & &

4. % 200
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One-fourth of two-fifths of 30% of a number is 15. What is 20% of that number?

Options:

1.4100

2. %50

3. * Data provided are not adequate to answer the question

4. % 200
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Options :

| % 40

5 % 30

3, % 24

4.« 10
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Sixteen men and twelve women together can complete a work in 8 days. Twenty men can
complete the same work in 16 days. How many days will sixteen women take to complete the

same work?

Options :
1. % 40
2. % 30

3. % 24

4.



¥ 10
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Solve the given two equations and select the correct answer.

I. 2x*+19x+45=0

O 2y*+1ly+12=0

Options:

% X>Y



3. X<y

4 w The relationship between x and y cannot be determined

Question Number : 62 Question Id : 25498929076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

. = % 10,500

, % % 15,000

5 » % 12,000

4 % % 12,500
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The respective ratio of the sum invested for 2 years each, in scheme A offering 20% p.a. compound
interest (compounded annually) and in scheme B offering 9% p.a. simple interest, is 1 : 3. The
difference between the interests earned from both the schemes is ¥1,200. How much was invested

in Scheme A?

Options :

1. % ¥10,500
2. * %15,000
3. ¥ %12,000

4. % 12,500

Question Number : 63 Question Id : 25498929356 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The interior angles of a quadrilateral are in the ratio of 6 : 5: 7 : 2. The largest angle of the
quadrilateral is equal to the largest interior angle of a triangle. One of the interior angles of the

triangle is 31°. What is the value of the smallest interior angle of the triangle?

Options:

1. % 29

o

2. % 31

3 v 23

4. % 27

Question Number : 63 Question Id : 25498929356 Question Type : MCQ Option Shuffling : Yes
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Qeh TGSl o TRk Ui T U 6 : 5: 7 : 2 81 IJHS 1 Fad ST 0T Yeh RSl & Jad a1 HidaRen dior
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Options :
1. % 29°
5 % 31°
3 o 23
4. % 27
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Question Number : 64 Question Id : 25498912883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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If the positions of the third and tenth letters of the word DOCUMENTATION are interchanged, and
likewise the positions of the fourth and seventh letters, and the second and sixth letters are also

interchanged, which of the following will be the eleventh letter from the right end?

Options :
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Select the option that mentions the quality/description common to the three given words.
Lion : Tiger : Leopard

Options:

1. # Reptiles

2. ¥ Carnivorous

3. % Zoo

4. # Circus

Question Number : 65 Question Id : 25498919634 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Select the option in which the words share the same relationship as that shared by the given set of

words.

Chair : Door : Stick

Options :

1. * Tomato : Potato : Guava

2. # Mason : Carpenter : Cobbler
3. ¢ Statue : Brick : Pot

4. * Book : Pen : Notebook

Question Number : 66 Question Id : 25498919648 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 25498927905 Question Type : MCQ Option Shuffling : Yes
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Nurture : Neglect :: Denigrate : ?
Options:

1. ¥ Reveal

2. ¥ Extol

3. * Recognise

4. % Calumniate
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Options :
1.9 27
2. %28
3. % 32

4. % 120

Question Number : 68 Question Id : 25498928164 Question Type : MCQ Option Shuffling : Yes
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In a certain code language, BAT is coded as 23 and CAT is coded as 24. How will BALL be coded in

the same language?

Options:
1.9 27
2. %28
3. % 32

4. % 120
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Select the option in which the words share the same relationship as that shared by the given pair



of words.

Corporeal : Spiritual

Options :

1. * Pedagogue : Teacher
2. * Foreigner : Immigrant
3. % Moron : Savant

4. *# Mesa : Plateau

Question Number : 69 Question Id : 25498928304 Question Type : MCQ Option Shuffling : Yes
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1. % fqememe ; fAeren

2. % fadeft: smand
3. ¥ 4@ : fagm
4. % Ugrdl : UsR
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Options:

1. ¥ defieneur
2. ¥ IaRIenor
3. ¥ fasftenzor

4., « Iu<h gt
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When multinational companies are encouraged to enter India which of the following policies is/are

being promoted?

Options :

1. # Globalisation
2. # Liberalisation
3. * Privatisation

4. ¢ All of the given options
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Options :

1. ¢ GfeThRl gHH

2. ¥ g&ieH

3. ¥ gIanleUdh g

4. % USRI
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A surge of which of the following hormones stimulates ovulation in human females?

Options :
1. % Luteinising hormone

2. % QOestrogen



3. # Follicle stimulating hormone

4. # Progesterone
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Why did the Congress ministers resign in seven provinces in 1939?

Options :

1. ® The Congress could not form ministers in the other four provinces.

2. # Emergence of a ‘left wing' in the Congress made the working of the ministries impossible.
3. # There were widespread communal disturbances in their provinces.

4. ¢ None of the given statements is correct
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Options :
1. % 1955
2. % 1956
3. % 1957

4. % 1970
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In which year did Milkha Singh win the first national title in the 400 m race?

Options :
1. % 1955
2. ®# 1956
3. ¥ 1957

4. % 1970
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As per the Consititution of India, political right does NOT include which of the following?

Options :

1. % Right to vote

2. ¥ Right to life

3. # Right to contest in elections

4. # Right to lodge a complaint with executive bodies of the government
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Read the assertion and reason given here carefully and select the most appropriate option.

Assertion (A): A negligible proportion of the population of the world's hot desert regions are

engaged in industrial pursuits.

Reason (R): Those regions are very poorly endowed with minerals and/or energy resources.
Options:

1. ¥ Both A and R are true and R is the correct explanation of A.

2. ¥ Both A and R are true but R is not a correct explanation of A.

3. ¥ Alis true but R is false.

4. % Aljs false but Ris true.
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and

responsible living and more. It aids the overall development of a child and children have fun



during this process as they get to explore new arenas.
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An ecosystem is a community of plants and animals interacting with each other in a given
area and also with their non living environments. The non living environments include
weather or climate and soil etc. The ecosystem relates to the way that all different
organisms live in close proximity to each other and how they interact with each other. For
instance in an ecosystem where there are both rabbits and foxes these two creatures are in
a relationship where the fox eats the rabbit in order to survive. This relationship has a knock
on effect with the other creatures and plants that live in the same or similar areas. For
instance the more rabbits that foxes eat the more the plants may start to thrive because
there are fewer rabbits to eat them. Ecosystems can be huge with many hundreds of
different animals and plants all living in a delicate balance or they could be relatively small.
In particularly harsh places in the world such as the North and South Poles the ecosystems
are relatively simple because there are only a few types of creatures that can withstand the
freezing temperatures and harsh living conditions. Ecosystems also consist of creatures that
mutually benefit from each other. An ecosystem can be destroyed by a stranger. The
stranger could be a rise in temperature or sea level or climate change. The stranger can

affect the natural balance and can harm or destroy the ecosystem. It is a bit unfortunate



but ecosystems have been destroyed and vanished by man made activities like
deforestation and natural activities like floods or storms. The non living factors or the
physical environment prevailing in an ecosystem form the abiotic components. These are
climatic factors that include rain and wind etc. The living organisms such as plants animals
and microorganisms that are present in an ecosystem form the biotic components. Among
biotic components at a basic functional level ecosystem generally contains primary
producers which are plants capable of harvesting energy from the sun through the process
called photosynthesis. This energy then flows through the food chain. After producers come
consumers in the ecosystem. There are different classes or categories of consumers. These
consumers feed on the captured energy. The autotrophic components include all green
plants which fix the radiant energy of the sun and manufacture food from inorganic
substances. The heterotrophic components include non green plants and all animals which
take food from autotrophs. Herbivorous are animals that are purely dependent for their
food on producers or green plants. Carnivores are flesh eating animals and the omnivores
are the animals that are adapted to consume herbivores as well as plants as their food.
Secondary consumers are sparrows and wolves etc. These are the top carnivores that prey
upon other carnivores and herbivores as well as omnivores. Lions and Hawks are some of
the tertiary or top consumers. Parasites and scavengers are also included in the consumers
that utilize living tissues or dead remains of animals and plants as their food. Decomposers
work at the bottom of the food chain. Dead tissues and waste products are produced at all
levels. Scavengers and decomposers not only feed on this energy but also break organic
matter back into its organic constituents. It is the microbes that finish the job of

decomposition.
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